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Re-Imagination of learning

Time: : -

Read each question and underline the correct option.

1. Frank has a yard that is shaped like a rectangle. The long sides are 18 feet and

the short sides are 12 feet. Frank wants to put up a fence. How much fence
does he need?

a. 216 feet

b. 60 feet

c. 30 feet

2. | What is the perimeter of an octagon that has sides 9 inches long?

a. 70 inches
b. 64 inches

c. 72 inches

3.  Name a shape you can use P=2I| + 2w to find the perimeter.

a. triangle
b. trapezoid

c. rectangle

4. A possible answer when using the formula P=4s could be -

a.20sqin
b. 13 cubic ft

c. 20in

Copyright © Turtlediary.com. All rights reserved. www.turtlediary.com



